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Answer five (5) Questions selecting as follows.
Any two (2). questions from part A.
Any three (3) questions from part B.

Use of a non — programmable calculator is allowed.
PART A

(1) “Management Accounting plays a vital role in achieving organizational objectives”™. Discuss this
statement elaborating characteristics and objectives of Management Accounting. (20 marks)

(2) (1) (a) Define the following.
(1) Break-even point
(2) Profit volume ratio (04 marks)
(b) What is the effect of following on the break-even point and on the profit volume

ratio? Give reasons in support of your answer.

(1) Increase in physical sales (number of units)
(2) Increase in raw material cost.
(3) Decrease in total fixed cost. (06 marks)

(ii).  Consider the following information related to a manufacturing company.
Rs. (per unit)
Selling Price 100.00
Variable costs
Direct Material 30.00
Direct Labour  30.00
Variable overhead 20.00

Fixed costs are estimated at Rs. 100, 000/- for the year and the company expects to sell
10,000 units during the year.
You are required to calculate
(a) Contribution Sales (C/S) Ratio.
(b) Sales at the break-even point.
(03 marks)



(iil)

(iv)

(i)

(iii)

If the fixed costs increase by Rs.10,000/- and sales and variable cost remain unchanged.
compute the new.breakeven point. (02 marks)

The company is considering a proposal to modernize its existing plant. This will need -
additional fixed cost of Rs.25000/- with the expectation of saving Rs.2.50 each from
direct material costs and direct labour costs need to produce a unit. 1f this proposal is
undertaken, compute

(a) Contribution Sales Ratio

(b) Break-even point '

(c) Profit of the company after modernizing (05 marks)

Define “Marginal Cost” . Discuss the importance of classifying costs into ‘variable’ and
“fixed’ in marginal costing. (08 marks)

A company produces three types of products A, B, and C, and is considering its
production plan for the next month of its operations. The estimated cost and sales data
are provided below.

A B C
Direct material cost per unit (Rs. 5/=per Kg) 10 20 25
Direct labour cost per unit (Re.1/= per hour) 4 3 2
Selling price per unit (Rs.) 20 31 40
Monthly demand in units 200 500 450

Using the above information, determine the company’s product plan under each of the
following situations.

(a) The raw materials supply is limited to 2,500 kg in next month.
(b) The availability of direct labour hours is limited to 2350 hours in next month.
(06 marks)

A manufacturing company manufactures three products; P, Q and R. The envisaged sales -
mix is 60%, 25%, and 15% respectively with an estimated sales volume of Rs.
1,000,000/ for the coming year. Cost structure of the three products is given below.
Rs. (per unit)
P Q R

Selling price 100 100 100
Direct material cost 30 40 45
Direct labour 15 20 25
Other variable costs 5 10 10

Fixed costs are budgeted at Rs. 100,000. The organization is now considering revising its
target sales mix to 80%, 15% and 5%. Fixed costs are expected to increase to Rs.
120,000/~ as a result. Compare the effect of the two alternative sales mix and recommend
a suitable course of action. (06 marks)



PART B

Explain the role of a Finance Manager in the changing scenario of financial management in Sri

Lanka. (20 marks)
(5) (1) “The profit maximization is not an operationally feasible criteria.” Comment on this
statement. (06 marks)

(i1) Alfa PLC just paid a cash dividend of Rs. 2/= per share. [nvestors require a 16% return
from an investment such as this. The dividend is expected to grow at a steady rate of 8%
.per year.
a) What is the current value of the share?
b) Would you buy this share if it is selling at Rs.26.50/=? Justify your answer.
(04 marks)

(ii1) Beta PLC’s bond has a 10% coupon rate and a Rs. 1,000/= face value. Interest is paid
annually and the bond has 20 years to maturity. If investors require a 12% yield, what is

the bond value today? (04 marks)
(iv) Using appropriate graph, explain the relationship between bond maturity and interest rate
risk.

(06 marks)
(6) ) What is return of an investment? (04 marks)

(ii) Suppose an investor had purchased 1000 shares of ABC PLC on 1¥ January 2015 each at
Rs. 20/=. The company paid a dividend of Rs. 2/= per share for the year 2015. These -
shares were sold on 315 December 2015 at Rs.24/= each. What was the return earned
over year 20157 : (04 marks)

(ii1) Suppose you have bought shares of ABC PLC at a price of Rs. 100/= each. The
following are the forecasted share prices at the end of next year and the dividend with
related probabilities.

Economic Condition Probability Share Price Dividend
Stable 0.4 110.00 10.00
Boom 03 115.50 11.00
Decline 0.3 90.00 5.00
Calculate the expected return and risk of the return. (06 marks)



(7)

(iv) What is the standard deviation of the following portfolio if the coefficient of the
correlation between the two securities is equal to 0.57

Variance (%) Proportion of investment
in the portfolio
Security 01 10 0.3
Security 02 20 0.7

(06 marks)

(i) . “Every business organization weather big or small requires sufficient liquidity assets to
carry out day to day activities.” Do you agree? Explain. (05 marks)

(ii) ' Discuss how working capital affects both the liquidity and profitability. (05 marks)

(1it) Bright Paints Ltd. estimates its cash requirements as Rs. 240, 0000/- next year. The
company faces a fixed cost of Rs. 4000/~ to obtain new funds. The holding cost is 3% per

annum.
(a) Determine the optimum cash balance.
(b) How many transactions will have to be made during the year? (04 marks)

(iv) Navaliya PLC. has the following information related to it cost of capital.

Current selling price of an equity share (Rs.) 75.00

Current growth rate of the share 6.0%

Most recently paid dividend (Do)  (Rs) 5.00 :
Floatation cost 3.0% 3
Shareholders tax 30.0% §
Cost of debt after tax 6.0%

The company has the following capital structure as at 3 1 March 201 5.

(Rs. Million)

Debt capital 80
Retained earnings 20
Equity share capital 100

You are required to calculate

(a) Cost of retained earnings.

(b) Cost of equity capital.

(¢) Weighted average cost of capital. (06 marks)
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Table A-4 Present Value Interest Factors for a One-Dollar >3:c:< Discounted at k Percent for n Periods: PVIFA = [1-1(1+Kk"/k

12%

Pariod 1% 2% 3% 4% 5% 6% 1% 8% 9% | “10%: 1% A3% |- 4% | 15% | 16% | 20% 24% 25% 30%
1 0.9901 | 0.9804 | 0.9709 | 0.9615 | 0.9524 | 0.9434 | 0.9346 | 0.9259 | 0.9174 | 0.9091 | 0.009 | 0.8929 | 0.8850 | 0.8772 | 0.8696 | 0.8621 | 0.8333 | 0.8065 | 0.8000 | 0.7692
2 1.9704 | 1.8416 | 1.9135 | 1.8861 | 1.8594 | 1.8334 | 1.8080 | 1.7833 | 1.7591 | 1.7355 | 1.7425 | 1.6901 | 1.6681 | 1.6467 | 1.6257 | 1.6052 | 1.5278 | 1.4568' | 1.4400 | 1.3609
3 2.89410 | 2.8839 | 2.8285 | 2.7751 | 2.7232 | 2.6730 | 2.6243 | 2.5771 | 2.5313 | 2.4869 | 2.4437 | 24048 | 2.3612 | 2.3216 | 2.2832 | 2,2459 | 2.1065 | 1.9813 | 1,520 | 1.8164
4 3.9020 | 3.8077 ; 3.7171 | 3.6299 | 3.5460 | 3.4651 | 3.3872 | 3.3121 | 3.2397 | 3,699 | 3.1024 | 3.0373 | 2.9745 | 2.9137 | 2.8550 | 2,7982 | 2.5887 | 2.4043 | 2.3616 | 2.1662
5 48534 | 47135 | 4.5797 | 4.4518 | 43295 | 4.2124 | 41002 | 3.9927 | 3.8897 | 3.7908 | 3.6959 | 3.6048 | 3.5172 | 3.4331 | 3.3522 | 32743 | 2.9906 | 2.7454 | 2.6893 | 2.4356
6 S.7955 | 5.6014 | 5.4172 | 8.2421 | 5.0757 | 4.9173 | 4.7665 | 4.6229 | 4.4859 | 4,3553 | 4.2305 | 4.1114 | 3.9975 | 3.8887 | 3.7845 | 3.6847 | 3.3255 | 3.0205 | 2.9514 | 2.6427
7 6.7282 | 64720 | 6.2303 | 6.0021 | 57864 | 5.5824 | 5.3893 | 52064 | 50330 | 4.8684 | 4.7122 | 4.5638 | 4,4226 | 4.2883 | 4.1604 | 40386 | 3.5046 | 3.2423 | 3.1641 | 2.8021
8 7.8517 | 7.3285 | 7.0197 | 6,7327 | 6.4632 | 6.2098 | 5.9713 | 57466 | 55348 | 5.3349 | 51461 | 4.9676 | 4.7988 | 4.6389 | 4.4873 | 4.3436 | 3.8372 | 3.4212 | 3.3289 | 2.9247
9 8.5660 | 8.1622 | 7.7861 | 7.4353 | 7.1078 | 5.8017 | 6.5152 | 6.2469 | 59952 | 5.7590 | 55370 | 5.3282 | 51317 | 49464 | 47716 | 4.6065 | 4.0310 | 3.5655 | 3.4631 | 3.0190
10 5.4713 | 8.9826 | 8.5302 | 81109 | 7.7217 | 7.3601 | 7.0236 | 6.7101 | 6.4177 | 6.1446 | 58892 | 5.6502 | 54262 | 52161 | 50188 | 4.8332 | 4.1925 | 3.6819 | 3.5705 | 3.0915
11 10.368 | 9.7868 | 9.2526 | 8.7605 | 8.3064 | 7.8869 | 7.4987 | 7.1390 | 6.8052 | 6.4951 | 6.2065 | 5.9377 | 5.6869 | 5.4527 | 5.2337 | 50286 | 4.3271 | 3.7757 | 3.6564 | 3.1473
12 11,285 | 10.575 | 9.9540 | 9.3851 | 8.8633 | 8.3833 | 7.9427 | 7.5361 | 7.1607 | 6.8137 | 6.4924 | 6.1944 | 59176 | 5.6603 | 54206 | 5.1871 | 4.4392 | 3.8514 | 3.7251 | 3.1903
13 12134 | 11.348 | 10.635 | 9.9856 | 9.3936 | 8.8527 | 8.3577 | 7.9038 | 7.4860 | 7.1034 | 6.7499 | 6.4235 | 6.1218 | 5.8424 | 5.5831 | 53423 | 4.5327 | 3.9124 | 3.7801 | 3.2233
14 13.004 | 12106 | 11.296 | 10.563 | 9.8986 | 9.295) | 8.7455 | 8.2442 | 7.7862 | 7.3667 | 6.9819 | 6.6282 | 6.3025 | 6.0021 | 57245 | 54675 | 4.6106 | 3.9616 | 3.8241 | 3.2487
15 13.865 | 12.849 | 11.938 | 11.418 | 10,380 | 9.7122 | 94079 | 8.5595 | 8.0607 | 7.6061 | 7.1909 | 6.8109 | 6.4624 | 6.1422 | 5.8474 | 55755 | 4.6755 | 4.0013 | 3.8593 | 3.2682
16 14.718 | 13.578 | 12.561 | 11.652 | 10.838 | 10.105 | 9.4466 | 8.8514 | 83126 | 7.8237 | 7.3792 | 6.9740 | 6.6039 | 6.2651 | 5.9542 | 5.6685 | 4.7296 | 4.0333 | 3.8874 | 3.2832
17 15.562 | 14.292 | 13.166 | 12166 | 11.274 | 10.477 | 6.7632 | 9.1216 | 8.5436 | B.0216 | 7.5488 | 7.1196 | 6.7291 | 6.3728 | 6.0472 | 57487 | 4.7746 | 4.0591 | 3.9099 | 3.2948
18 16.398 | 14.992 | 13.754 | 12.659 | 11.690 | 10,823 | 10,059 | 9.3719 | 8.7556 | 8.2014 | 7.7016 | 7.2497 | 6.8399 | 6.4674 | 6.1280 | 5.8178. | 4.8122 | 4.0799 | 3.9279 | 3.3037
19 17.226 | 15.678 | 14.324 | 13134 | 12.085 | 11,153 | 10.336 | 9.6036 | 83501 | 8.3649 | 7.8393 | 7.3658 | 6.9380 | 6.5504 | 6.1982 | 58775 | 4.8435 | 4.0967 | 3.9424 | 3.3105
20 18.046 | 16.351 | 14.877 | 13.590 | 12462 | 11.470 | 10.594 | 9.8181 | 9.1285 | 8.5136 | 7.9633 | 7.4684 | 7.0248 | 6.6231 | 6.2593. | 59288 | 4.8696 | 4.1103 | 3.9539 | 3.3158
21 18.857 | 17.011 | 15.415 | 14.028 | 12821 ' 11.764 | 10.836 | 10.017 | 9.2922 | 8.6487 | 8.0751 | 7.5620 | 7.1016 | 6.6870 | 6.3125 | 59731 | 4.8913 | 4.1212 | 3.9631 | 3.3198
22 19.660 | 17.658 | 15937 | 14.451 | 13.163 : 12.042 | 11.061 | 10.201 | 9.4424 | 8.7715 | 8.1757 | 7.6446 | 7.1695 | 6.7420 | 6.3587 | 6.0413 | 4.9094 | 4.1300 | 3.9705 | 3.3230
23 20456 | 18.292 | 16.444 | 14.857 | 13489 - 12.303 | 11.272 | 10.371 | 9.5802 | 8.8832 | 8.2664 | 7.7184 | 7.2207 | 6.7921 | 6.3988 | 6.0442 | 4.9245 | 4.1371 | 3.9764 | 3.3254
24 21.243 | 18.914 | 16335 | 15.247 | 13799 . 12,550 | 11.469 | 10.529 | 9.7066 | 8.9847 | 8.3481 | 7.7843 | 7.2820 | 6.8351 | 6.4338 | 6.0726 | 4.9371 | 4.1428 | 3.9811 | 3.3272
25 22,023 | 19.523 | 17.413 | 15622 | 14094 | 12.783 | 11,654 | 10.675 | 98226 | 9.0770 | 8.4217 | 7.8431 | 7.3300 | 6.8729 | 6.4641 | €.0971 | 4.9476 | 4.1474 | 3.9849 | 3.3286
30 26,808 | 22,396 | 19.600 | 17.202 | 15372 | 13.765 | 12.409 | 11.258 | 10.274 | 9.4269 | 8.6938 | 8.0552. | 7.4957 | 7.0027 | 6,5660 | &.1772 | 4.9789 | 4.1601 | 3.9950 | 3.3321
35 20409 | 24.999 | 21.487 | 18,665 |-16.374 | 14.498 | 12.948 | 11.655 | 10.567 | 9.6442 | 8.8552 | 8.1755 | 7.5856 | 7.0700 | 6.6166 | 6.2153 | 4.9915 | 4.1644 3.89984 | 3.3330
36 30108 | 25489 | 21.832 | 18.908 | 16.547 | 14.621 | 13.035 | 11.747 | 10.612 | 9.6765 | 8.8786 | 8.1924 | 7.5979 | 7.0790 | 6.6231 | €.2201 | 4.9929 | 4,640 | 3.9987 | 3.3331
40 32.835 | 27.355 | 23.115 | 19.793 | 17.159 | 15.046 | 13.332 | 11.925 | 40.757 | 9.7791 | 8.9511 | 8.2438 | 7.6344 | 7.1050 | 6.6418 | 6.2335 | 4.9966 | 4.1659 | 3.9995 | 3.3332

39.186 | 31.424 | 25730 | 21.482 | 18.256 | 15.762 | 13.801 | 12.233 | 10.962 | 9.9148 | 0.0417 | 8.3045 | 7.6752 | 7.1327 | 6.8605 | 6.2483 | 4.9995 | 4,1666 | 3.9999 | 3.3333
" !




' o Table A-3 Present Value Interest Factors for One Dollar Discounted at k Percent for n Periods: PVIF,,=1/(1 + k)"

Period A% 2% 3% 4% | 5% | 6% | 7% | - B%..t 9% . 1 10%. |. 11% . 2139 L A8%: L A6% ] 20%. 1 . 24%. | - 25% 30% .
1 0.9901 | 0.9804 | 0.9709 | 0.9695 | 0.9524 | 0.9434 | 0.9346 | 0.3259 | 0.9174 | 0.9091 | 0.5008 0.8850 0.8696 | 0.8621 | 0.8333 | 0.8065 | 0.8000 | 0.7692
2 -0.9803 | 0.9612 | 0.9426 | 0.9246 | 0.9070 | 0.8900 | 0.8734 | 0.8573 | 0.8447 | 0.8264 | 0.8116 | 0.7972 | 0.7831 | 0.7695 | 0.7561 | 0.7432 | 0.6944 | 0.6504 | 0.6400 | 0.5917
3 0.9706 | 0.8423 | 0.9151 | 0.8890 | 0.8638 | 0.8396 | 0.8163 | 0.7938 | 0.7722 | 0.7513 | 0.7312 | 0,7118 | 0.6931 | 0.6750 | 0.6575 | 0.6407 | 0.5787 | 0.5245 | 0.5120 | 0.4552
4 0.9610 | 09238 | 0.8885 | 0.8548 | 0.8227 | 0.7921 | 0.7629 | 0.7350 | 0.7084 | 0.6830 | 0.6587 | 0.6355 | 0.6133 | 0.5921 | 0.5718 | 0.6523 | 0.4823 | 0.4230 | 0.4096 | 0.3504
5 0.9515 | 0.9057 | 0.8626 | 0.8219 | 0.7835 | 0.7473 | 0.7130 | 0.6806 | 0.6499 | 0.6209 | 0.5935 | 0.5674 | 0.5428 | 0.5194 | 0.4972 | 0.4761 | 0.4019 | 0.3411 | 0.3277 | 0.2693
8 0.9420 | 0.8880 | 0.8375 | 0.7903 | 0.7462 | 0.7050 | 0.5663 | 0.6302 | 0.5963 | 0.5645 | 0.5346 | 0.5066 | 0.4B03 | 0.4556 | 0.4323 | 0.4104 | 0.3349 | 0.2751 | 0.2621 | 0.2072
7 0.9327 | 0.8706 | 0.8131 | 0.7599 | 0.7107 | 0.6651 | 0.6227 | 0.5835 | 0.5470 | 0.5132 | 0.4847 | 0.4523 | 0.4251 | 0.3996 | 0.3759 | 0.3538 | 0.2791 | 0.2218 | 0.2097 | 0.1594
8 0.9235 | 0.8535 | 0.7894 | 0.7307 | 0.6768 | 0.6274 | 0.5820 | 0.5403 | 0.5019 | 0.4665 | 0.4339 | 0.4039 | 0.3762 | 0.3506 | 0.3269:| 0.3050 | 0.2326 | 0.1789 | 0.1678 | 0.1226
9 0.9143 | 0.8368 | 0.7664 | 0.7026 | 0.6448 | 0.5919 | 0.5439 | 0.5002 | 0.4604 | 0.4241 | 0.3%09 | 0.3608 | 0.3329 | 0.3075 | 0.2843 | 0.2630 | 0.1938 | 0.1443 | 0.1342 | 0.0943
10 0.9053 | 0.8203 | 0.7441 | 0.6756 | 0.6139 | 0.5584 | 0.5083 | 0.4632 | 0.4224 | 0.3855 | 0.3522 | 0.3220 | 0.2946 | 0.2697.| 0.2472 | 0.2267 | 0.1615 | 0.1164 | 0.1074 | 0.0725

11 0.8963 | 0.8043 | 0.7224 | 0.6496 | 0.5847 | 0.5268 | 0.4751 | 0.4289 | 0.3875 | 0.3505 | 0.3173 | 0.2875 | 0.2607 | 0.2366 | 0.2149 | 0.1954 | 0.1346 | 0.0938 | 0.0859 | 0.0558
12 0.8874 | 0.7885 | 0.7014 | 0.6246 | 0.5568 | 0.4970 | 0.4440 | 0.3971 | 0.3555 | 0.3186 | 0.2858 | 0.2567 | 0.2307 | 0.2076 | 0.1869 | 0.1685 | 0.1122 | 0.0757 | 0.0687 | 0.0429
13 0.8787 | 0.7730 | 0.6810 | 0.6006 | 0.5303 | 0.4688 | 0.4150 | 0.3677 | 0.3262 | 0.2897 | 0.2575 | 0.2232 | 0.2042 | 0.1821 | 0.1625 | 0.1452 | 0.0935 | 0.0610 | 0.0550 | 0.0330
14 0.8700 | 0.7579 | 0.6611 | 0.5775 | 0.5051 | 0.4423 | 0.3878 | 0.3405 | 0.2992 | 0.2633 | 0.2320 | 0.2046 | 0.1807 | 0.1597 | 0.1413 0.0779 | 0.0492 | 0.0440 | 0.0254
15 0.8613 | 07430 | 0.6419 | 0.5553 | 0.4810 | 0.4173 | 0.3624 | 0.3152 | 02745 | 0.2394 | 0.2090 | 0.4827 | 0.1599 | 0.1401 | 01229 | 0.4079 | 0.0649 | 0.0387 | 0.0352 | 0.0195

16 0.8528 | 0.7284 | 0.6232 | 0.5339 | 0.4581 | 0.3936 | 0.3387 | 0.291% | 0.2519 | 0.2176 | 0.1883 | 0.1631 | 01415 | 0.1229 | 0.1069 | 0.0930 | 0.0541 | 0.0320 | 0.0281 | 0.0150
17 0.8444 | 0.7142 | 0.6050 | 0.5134 | 0.4363 | 0.3714 | 0.3166 | 0.2703 | 0.2311 | 0.1978 | 0.1696 | 0.1456 | 0,1252 | 0.1078 | 0.0929 | 0.0802 | 00451 | 0.0258 | 0.0225 | 0.0116
18 0.8360 | 0.7002 | 0.5874 | 0.4936 | 0.4155 | 0.3503 | 0.2959 | 0.2502 | 0.2120 | 0.1799 | 0.1528 | 0.130D0 | 0.1108 | 0.0946 | 0.0808 | 0.0691 | 0.0376 | 0.0208 | 0.0180 | 0.0089
19 0.8277 | 0.6864 | 0.5703 | 0.4746 | 0.3957 | 0.3305 | 0.2765 | 0.2317 | 0.1945 | 0.1635 | 0.1377 | 0.116% | 0.0981 | 0.0829 | 0.0703 | 0.0596 | 0.0313 | 0.0168 | 0.0144 | 0.0068
20 0.8195 | 0.6730 | 0.5537 | 0.4564 | 0.3769 | 0.3118 | 0.2584 | 0.2145 | 0.1784 | 0.1486 | 0.1240 | 0.1037 | 0.0868 | 0.0728 | 0.0611 | 0.0514 | 0.0261 | 0.0135 | 0.0115 | 0.0053

2 0.8114 | 0.6598 | 0.5375 | 0.4388 | 0.3589 | 0.2942 | 0.2415 | 0.1987 | 0.1637 | 0.1351 | 0.1117 | 0.0926 | 0.0768 | 0.0638 | 0.0531 | 0.0443 | 0,0217 | 0.0109 | 0.0092 | 0.0040
22 0.8034 | 0.6468 | 0.5213 { 0.4220 | 0.3418 | 0.2775 | 0.2257 | 0.1839 | 0.1502 | 0.1228 | 0.1007 | 0.0826 | 0.0680 | 0.0560 | 0.0462 | 0,0382 | 0.0181 | 0.0088 | 0.0074 | 0.0031
23 0.7954 | 0.6342 | 0.5067 | 0.4057 | 0.3256 | 0.2618 | 0.2109 | 0.4703 | 0.1378 | 01117 | 0.0907 | 0.0733 | 0.0601 | 0,0491 | 0.0402 | 0.0329 | 00151 | 0.0071 | 0.0059 | 0.0024
24 0.7876 | 0.6217 | 0.4919 [ 0.3901 | 0.3101 | 0.2470 | 0.1971 | 0.1577 | 0.1264 | 0.1015 | 0.0817 | 0.0659 | 0.0532 | 0.0431 | 0.0349 | 0,0284 | 0.0126 | 0.0057 | 0.0047 | 0.0018
25 0.7798 | 0.6085 | 0.4776 | 0.3751 | 0.2953 | 0.2330 | 0.1842 | 0.1460 | 0.1160 | 0.0923 | 0.0736 | 0.0588 | 0.0471 | 0.0378 | 0.0304 | 0.0245 | 0.0105 | 0.0045 | 0.0038 | 0.0014

30 0.7419 | 0.5521 | 0.4120 .| 0.3083 | 0.2314 | 0.1741 | 0.1314 | 0.0994 | 0.0754 | 0.0573 | 0.0437 | 0.0334 | 0.0256 | 0.0196 | 0.0151 | 0.0116 | 0.0042 | 0.0016 | 0.0012 N

:

35 0.7059 | 0.5000 | 0.3554 | 0.2534 | 0.1813 | 0.1301 | 0.0937 | 0.0676 | 0.0450 | 0.0356 | 0.0259 | 0.0189 | 0.0138 | 0.0102 | 0.0075 | 0.0055 | 0.0017 | 0.0005 N "
38 0.6989 | 0.4902 | 0.3450 | 0.2437 | 0.4727 | 0.4227 | 0.0875 | 0.0626 | 0.0443 | 0.0323 | 0.0234 | 0.0169 | 0.0123 | 0.0089 | 0.0065 | 0.0048 | 0.0014 * v N
40 0.6717 | 0.4529 | 0.3066 | 0.2083 | 0.1420 | 0.0972 | 0.0688 | 0.0460 .| 0.0318:-0.0221 | 0.0154 | .0.0107 | 0.0075 | 0.0053 | 0.0037 | 0.0028 | 0.0007 * * ‘
50 0.6080 | 0.3715 | 0.2281 | 0.1407 | 0.0872 | 0.0543 | 0.0339 | 0.0243 | 0.0134 | 0.0085 | 0.0054 | 0.0035 | 0.0022 [ 0.0014 | 0.0009 | 0.0006 N * - -




